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Constant torque Variable torque
T Output Input Output Output Input Output
power current current power current current
(kW) (A) (A) (kW) (A) (A)
GD200-1R5G-4 1.5 5.0 4.5
GD200-2R2G-4 2.2 5.8 5.5
GD200-004G/5R5P-4 4 10 9.5 5.5 15 14
GD200-5R5G/7R5P-4 5.5 15 14 7.5 20 18.5
GD200-7R5G/011P-4 7.5 20 18.5 1" 26 25
GD200-011G/015P-4 1" 26 25 15 35 32
GD200-015G/018P-4 15 35 32 18.5 38 38
GD200-018G/022P-4 18.5 38 38 22 46 45
GD200-022G/030P-4 22 46 45 30 62 60




Constant torque

Variable torque

wodel Output Input Output Output Input Output

power current | current power current | current

(kW) (A) (A) (kW) (A) (A)
GD200-030G/037P-4 30 62 60 37 78 75
GD200-037G/045P-4 37 76 75 45 90 92
GD200-045G/055P-4 45 90 92 55 105 115
GD200-055G/075P-4 55 105 115 75 140 150
GD200-075G/090P-4 75 140 150 90 160 180
GD200-090G/110P-4 90 160 180 110 210 215
GD200-110G/132P-4 110 210 215 132 240 260
GD200-132G/160P-4 132 240 260 160 290 305
GD200-160G/200P-4 160 290 305 200 370 380
GD200-200G/220P-4 200 370 380 220 410 425
GD200-220G/250P-4 220 410 425 250 460 480
GD200-250G/280P-4 250 460 480 280 500 530
GD200-280G/315P-4 280 500 530 315 580 600
GD200-315G/350P-4 315 580 600 350 620 650
GD200-350G/400P-4 350 620 650 400 670 720

GD200-400G-4 400 670 720
GD200-500G-4 500 835 860
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0:No operation
1:Restore the default value
Function [2:Clear fault records
P00.18 restore |Note: The function code will restore to O after
parameter [finishing the operation of the selected function code.
Restoring to the default value will cancel the user

password, please use this function with caution.
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Profibus

1. Communication address
is not correct.

2. Corresponding resistor is

E-DP communication Check related setting
not dialed
fault
3. The files of main stop
GSD does not set sound
4, The Ethernet address is
not set right. 1. Check the relative setting.
Ethernet 5. The Ethernet Check the communication
E-NET communication communication is not method selection.
fault selected to right. 2. Check the environment
B. The ambient interference |and avoid the interference.
is too strong.
1. The connection is not
sound 1. Check the connection
CAN
2. Corresponding resistor is | 2. Draw out the correspond
E-CAN communication

fault

not dialed
3. The communication is

uneven

resistor

3. Set the same baud rate




Fault code Fault type Possible cause What to do
OUH IGBT Ph=U fault |1- The acceleration is too | 1. Increase Acc time.
fast. 2. Change the power unit,
out2 IGBT Ph-V fault
2. IGBT module fault. 3. Check the driving wires.
3.The connection of the|4. Inspect external
Out3 IGBT Ph-W fault driving wires is not good, equipment and eliminate
4, Grounding is not properly. | interference.
Over-current when | 1.  The acceleration or | 1. Increase the ACC time
oct acceleration deceleration is too fast. 2. Check the input power
Over-current when | 2. The voltage of the grid is | 3. Select the inverter with a
oc2 deceleration too low, larger power
3. The power of the inverter | 4. Check if the load is short
is too low, circuited (the grounding
4, The load transients or is | short circuited or the wire
Over-current when | abnormal. short circuited) or the
0C3 constant speed |S. The grounding is short | rotation is not smooth.
running circuited or the output is|3. Check the output
phase loss. configuration.
6. There is strong external | 6. Check if there is strong
interference, interference,
OQver-voltage 1. Check the input power
oV when acceleration 2. Check if the DEC time of
Over-voltage 1. The input voltage is |the load is too short or the
ove when deceleration | abnormal. inverter starts during the
2. There is large energy | rotation of the motor or it
Over-voltage
feedback. needs to increase the
ov3 when constant
energy consumption
speed running
components,
UV DC bus The voltage of the power | Check the input power of

Under-voltage

supply is too low.

the supply line




Fault code

Fault type

Possible cause

What to do

1. The voltage of the power
supply is too low.

2. The motor setting rated

1. Check the power of the
supply line

2. Reset the rated current of

oL Motor overload
current is incorrect. the motor
3. The motor stall or load | 3. Check the load and adjust
transients is too strong. the torque lift
1. The acceleration is too
fast 1. Increase the ACC time
2. Reset the rotating motor | 2. Avoid the restarting after
3. The voltage of the power | stopping.
supply is too low. 3. Check the power of the
oL2 Inverter overload
4, The load is too heavy. supply line
5. Close loop vector control, | 4. Select an inverter with
reverse direction of the code | bigger power.
panel and long low-speed | 5. Select a proper motor.
operation
The inverter will report
Check the lecad and the
OL3 Electrical overload | overload pre-alarm
overload pre-alarm point.
according to the set value,
1. Check input power
Phase loss or fluctuation of
SPI Input phase loss 2. Check installation
input R,S, T
distribution
1. Check the output
U VW phase loss input(or
distribution
SPO Output phase loss | serious asymmetrical three
2. Check the motor and
phase of the load)
cable
1. Air duct jam or fan|1. Refer to the overcurrent
damage solution
OHA1 Rectify overheat

2. Ambient temperature is

too high.

2. Redistribute

dredge the wind channel or




Fault code

Fault type

Possible cause

What to do

OH2

IGBT overheat

EF

External fault

Sl external fault input

terminals action

Check the external device

input

CE

Communication

error

1. The baud rate setting is
incorrect,.
2. Fault occurs to the
communication wiring.

3. The communication
address is wrong.
4. There is strong
interference to the

communication.

1. Set proper baud rate

2. Check the communication
connection distribution

3. Set proper
communication address.

4. Chang or replace the
connection distribution or
improve the

anti-interference capability.

ItE

Current detection

fault

1. The connection of the
control board is not good

2. Assistant power is bad

3. Hoare components is
broken

4. The modifying circuit is

abnormal.

1. Check the connector and
repatch

2. Change the Hoare

3. Change the main control

panel

tE

Autotuning fault

1. The motor capacity does
not comply with the inverter
capability

2. The rated parameter of
the motor does not set
correctly.

3. The offset between the
parameters from autotune
and the standard parameter
is huge

4, Autotune overtime

1. Change the inverter mode
2. Set the ratedparameter
according to the motor
name plate

3. Empty the motor load and
reindentify
4. Check

the motor

connection and set the
parameter.

5. Check if the upper limit
frequency is above 2/3 of

the rated frequency.




Fault code Fault type Possible cause What to do
1. Error of controlling the
1. Press STOP/RST to reset
write and read of the
EEP EEPROM fault 2. Change the main control
parameters
panel
2. Damage to EEPRCOM
1. Check the PID feedback
1. PID feedback offline
signal
PIDE PID feedback fault |2, PID feedback source
2. Check the PID feedback
disappear
source
1. Check the braking unit
1. Braking circuit fault or
and , change new braking
damage to the braking pipes
bCE Braking unit fault pipe
2. The external braking
2. Increase the braking
resistor is not sufficient
resistor
1. The output of the inverter | 1. Check if the connection of
is short circuited with the |the motor is normal or not
Grounding
ETH1 ground. 2. Change the Hoare
shortcut fault 1
2. There is fault in the |3. Change the main control
current detection circuit, panel
1. The output of the inverter | 1. Check if the connection of
is short circuited with the | the motor is normal or not
Grounding
ETH2 ground. 2. Change the Hoare
shortcut fault 2
2. There is fault in the | 3. Change the main control
current detection circuit. panel
1. Check the load and
ensure it is normal. Increase
Velocity deviation | The load is too heavy or |the detection time.
dEu

fault

stalled.

2. Check whether the

control parameters are

normal.




Fault code

Fault type

Possible cause

What to do

1. The control parameters of

the synchronous motors not

1. Check the Iload and

ensure it is normal.

2. Check whether the
set properly.
Maladjustment control parameter is set
STo 2. The autoturn parameter is
fault properly or not.
not right.
3. Increase the
3. The inverter is not
maladjustment detection
connected to the motor.
time.
The actual running time of | Ask for the supplier and
Time reach of
END the inverter is above the |adjust the setting running
factory setting
internal setting running time, | time,
1. The connection of the
1. Check the keypad wires
keypad wires is not good or
and ensure whether there is
broken.
mistake,
Keypad 2. The keypad wire is too
2. Check the environment
PCE communication long and affected by strong
and avoid the interference
fault interference.
source.
3. There is circuit fault on
3. Change the hardware and
the communication of the
ask for service.
keypad and main board.
1. The connection of the |1. Check the keypad wires
keypad wires is not good or | and ensure whether there is
broken. mistake.
DNE Parameters 2. The keypad wire is too | 2. Change the hardware and
downloading fault |long and affected by strong | ask for service.
interference. 3. Repack-up the data in the
3. There is mistake on the | keypad.
data storage of the keypad.
The inverter will report the
Electronic Check the load and the
LL underload pre-alarm

underload fault

according to the set value,

underload pre=alarm point.
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